fal B X

i m X
145 2000 2000
175 11 x @150=1650 175
‘ 2
(rﬁnJ I II II I I I I I I I I _ﬁﬂ_ -
fﬂ|||||||||||||||||||||||ﬁnnnn
o 8
2 © ay
o [=o)
8
| ﬂt g
X WRE, A—H—DBETLIEFTEEZTERIRICMALTLEIELEDET S,
X HBRDA, —BEKREETHEHEENEVET,
B | X i R &b
100 145
(19) @
(14 D ;)
6 / P 4 |
BN o
= - T4 (@
ML\H = (5) |
@3 . = - /
8
. ] 0
P S )
5 O )T
g |
E[ = an | 4ay é
| (18)
= =
(15)
b
an /T L

— R EFHE

EEERE R IR R ~—z= (2)
(FKTA-HR2-2011W) (FKTA-HR2-2011C) (FKTA-HR2-2011BP)
’Q
s
4
(o)
g g g 22
8 -— — —
@ 2 ‘ (23)
w0 .
o) o) D e |
. o
, I S
g . ; i i o 2
T 3 N
1:0z0
01300
th i Z6
EE &% otk ME RENE
74 ) p-% :3 $60x3.0t AB6005CS-T5
@ e $40x3.0t ABOG3TE-T5 JIS H 8602 IBiBRAL B EMA KIS
o ©) E—L 40x35x2. 5t Ry rTSHoE)
@) TS 20x23x 1.5t A60B35-T5
(5) IHRFE 40 ADG
) FryTEEA ¢ 6054
©) *vy FLEB $40M (th=74) AB063S-T5
® JLEXIIJILEEC M ¢ 18x125 AB6063BE-T5 RY IR TILRE RS
© A ¢18%88 (2o ko m)
(10) PAVE Dy 3-1) $40F8 ADC
an 2% 8 ¢ 40F8 (tHrh=100) ACAC
(12) R—2AK vy R $170 ACTA
(13) ety b M8 A FILZH#
(14) M8 x 15 B, W
(15) . . M8 x 40 B, W, SW
(16) TARGARS A b M8 x 55 B, W, SW
an M8 x 15 B, W, SW o
(18) ARAEFARIL b M8 x 25 B, SW s
(19) E7RER $4x19 B
(20) N6 x 6 B
@1 AEARFIERS M6 x 10 B
22) N8 x 10 B
(23) FUh—RIL b M10 x 100
(24) RAR—HY— P11 B RS 28
5 FKTA—HRZ—ZO .I .I FA |2023/02/28 Eﬁﬁ%@%ﬁ%
st 2 |2 05 % sammenn




	シートとビュー
	一般図


